(BlEE 1 —2)
HXE128)

SFM743A31H
X Bk " B B

{ES BT RERFASREAAHES — 13— 1
(F7- 2 EBFOFER)
K 4 BHtEEES R ES

=k BHRK EE
(HEEDEELORH, KEEORAL)

RIRHR XSRS R b & EER S E

Bf 6 Y B/ BRORETEAMEE 7 B CRBEOSMRES S
TZHBEEFIC OV T, KIS R HISE B BB M EMRE 1245 1 BEE
BoOHOHEIZL D, ROL B EELHE LS,

1 FHBIEEZOLW BRXE12—280LEBY

2 WBhE&EOFELE (IEEVEMBIE) & 1,968,000 1
(EEE&#EBhE) & 500, 000 [
(& i) & 2, 468, 000 1

3 TOMSLEEIE
(1) #iBh & DA ESE 2, 468, 000 [

= DIEEEE 2, 468, 000
QWMBEEDERE - IR BRE 128 - #RE1—148)

4 IfHEHE

(DEEEE - ERESE
FEABI-15-BEXFE 1228, BB 138 - B8 1-55)

QBREOXHEER TE HENEDE L&

BB FEHIL» D DBBEE - RAF— - Ful T A, HEFEEHESOES cjt=
L7=E D HEhEs



(HRAB1-15-12-28) HREMESFEESIRESEE (Blig2)
| ( OEBEZRHEEERSR | [( O)EEFEEEHD)]
| E| SH6HE | BEFRESE | REREEDHRES
A (BE47: )
B B € 8B B =
KEHEMESGEER)A 500,000
KEHBEME GEHE)B 1,968,000
BmE-ELE-ERAN-FHE-TOMC 1,480,365/ & - 11 H4E£F
RAAED 3,948,365 G ,
CE) ST L. TROVE S 58 CRBYET .
T W (B A
SHEREE
EER ERAH mighl | -rre | RONRER| A | phen | TOH
=HA4 -
EBERE BE 547,756 547,756 0 500,000 47,756
BEBHEBS/NETE  547,756lF 547,756} G OlH 500,000§ I 47,756
Eu cpmE s | TR ey | ABEM
(= EEES-£% EiEesi =K-+L BEL FO4 N
SE) =M+N BEEE BEEE
OGBS SH7H 154,000F 154,000} 0 132,000 22,000
B |QERBILAT D FEE BE 333716 333,716 of 333716 0
5 12 ol 0 o} 0 0
of o} of 0 0
QR MERRFC R TR BE 0 0 0 0 0
FEE. (@OFFTHOY BE 64,886 64,886 0 64,886 ol
FOE |OBHEESCLER BE 41,080] 41,080] of 41,080 0
_ 0 of 0 0 ol
(CEETE 9B 16H 51,202 30,806 20,396 30,806 20,396
= 1t QEVOR (HFEE) BE 204,382 204,382 Of 170,000 34,382
= (ORI BE 201,506 201,506 0 50,000 151,506
_ _ 0l 0 0l 0 0
OET ] 2H16H 52,568 47,100} 5,468 47,100 5,468
ol 0 0 0 ol
Sl ol 0 of 0 0
of 0 ol 0 0l
_ (3R] BE 55,775 55,775 0 30,000 25,775
R R ol ol 0f 0 0
DEEXE 108138 434,329 337,936 96,393 200,000 234,329
DMERBYKRS 8H2-3H 1,637,796] 1,438,443 199,353 796,597 841,199
ik (@TSOURTLTRE 118248 82,871 31,815 51,056 31,815 51,056
AR~ [(DRF— I RS 6B30H 2828 86,498 54,327 32,171 40,000 46,498
BRI T RE ik of 0 0 0 0
0 ol ol 0 0
FEORESNHETEEE=MK 657 96) §J 3,400,609K 2,995772fL.  404,837]JM 1,968,000 [N 1432609
XHEEO 3948365]P 35435280 404,837]R 2468000 |S 1,480,365
RBER{48 A+B _ |WEB2ESEH R=H+M _|T:E3 (RAS)
2,468,000 2,468,000 0
WAEE D B XH&E O o |u:EE
3,948,365 3,948,365 0
VS U—T
C—S=V : : -

1,432,609
1,480,365



